Cluster 1 efw E p4 10Hz Ix [-6.74387,-2.85706 V] SC
Cluster 2 efw E p4 10Hz Ix [-6.74387,-2.85706 V] SC
Cluster 3 efw E p4 10Hz Ix [-6.74387,-2.85706 V] SC
Cluster 4 efw E p4 10Hz Ix [-6.74387,-2.85706 V] SC

av(Cluster 2 efw E p1234 180Hz hx[0]) [-6.3804,19.9942 mV/m] DSI
av(Cluster 3 efw E p1234 180Hz hx[0]) [-6.3804,19.9942 mV//m] DSI
av(Cluster 4 efw E p1234 180Hz hx[0]) [-6.3804,19.9942 mV/m] DSI
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av(Cluster 2 efw E pl1234 180Hz hx[1]) [-6.12641,6.38897 mVv/m] DSI
av(Cluster 3 efw E pl1l234 180Hz hx[1]) [-6.12641,6.38897 m\VV/m] DSI
av(Cluster 4 efw E pl1l234 180Hz hx[1]) [-6.12641,6.38897 mV/m] DSI

5 o ) ) —
‘r ‘ \ ‘
'u
= My“"' H\ ’ \“
£ 25 "‘ (AR I |H
= '/
=]
= o +
=1
s
25 i
-5 €L
fre(cluster 4 efvw £ pl234 180H = hx><[11D power [(M\//m)"~2/HZ
a
200
o.1
160 oon
=
g i1=zo0 0.001
=
B 0O.0001L
s0
1E-0O
; I. -. * 3 ! ! " B i i ;
0o .:l'l‘ . .i-l.l' i u . - . J
s ,.E.p., ,A_ i-_| ;ig ! LA, 4 1o
' TR =1 . i v ! <k
T R e O T
° 1E-O

13:28 13:28:30 13:29 13:29:30
Start: 2002-03-30 13:28:00.0 Interval: 120.0s
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